Newton’s Third Law
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Newton's Third Law of Motion:
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[f a heavier student pushes a lighter student, who exerts more force? Explain.
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Give some examples of*action-reaction pairs” of forces:
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Net force on batt: Action-Reaction pairs:
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Action-Reaction pairs:
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Equilibrium

What are some properties of an object in equilibrium?
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Sketch a free-body diagram for this box at rest on a hill.
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Ba don;/?rfr‘drawi s above, yhat is a yer
operty of an object in equilipfium?

1§ the system below in equilibrium? Draw the resultant.
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Now, draw a single vector that will put the system into equilibrium.
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What is the relationship betweep the resultant and the equilibrant?
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